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QUESTION 1

Your design of an asynchronous OIC integration flow includesthe requirement for additional processing logic that is
conditionally based on the results returned to the integration instance from earlier external service invocations. You
have decided to leverage the Switch action to facilitate this implementation.

Which is a valid consideration concerning the configuration and capabilities of the Switch action?

A. Any data objects returned within a branch of a Switch action will only be visible within the implicit scope of that branch
and not visible in the main flow of the integration outside of the Switch action.

B. You may need to create conditional expressions for each branch with greater complexity because nested Switch
actions are not supported.

C. All branches within the Switch action must have a conditionalexpression defined.

D. XPath version 2.0 functions can be used to create more complex conditional expressions for a branch.

Correct Answer: D

Explanation: "Define a routing expression, then click Close. XPath version 2.0 functions are supported. Base 64 encode

and decode functions that process data confidentially across layers and functions that return boolean results are also
supported. Functions that return nonboolean values are not supported.”

QUESTION 2

You are designing an OIC integration that will be processing files in a shared file system located within your on-
premises data center. You have decided to leverage various Stage File action operationswithin the integration flow in
conjunction with an on-premises OIC connectivity agent.

When using the Configure Stage File Action Wizard, which is a valid consideration regarding file operation capabilities?
A. The Write File operation is not available foron-premises file systems.

B. The List Files operation is still available for files uploaded through the connectivity agent.

C. With regard to both the Read Entire File and Read File in Segments operations, files uploaded through the
connectivity agent canonly be read with a file reference.

D. Files uploaded through the connectivity agent cannot be unzipped with the Unzip File operation using the file
reference.

Correct Answer: B

Explanation: https://docs.oracle.com/en/cloud/paas/integration-cloud/integrations- user/create-orchestrated-
integrations.html#GUID-4357B1C8-0FBB-482F-9ED4- 041ADE1B857F

QUESTION 3

Assuming that a particular user possesses the "Deploy to Gateway" grant, what grants on an API are required in order
to deploy that API?
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A. Manage API or Deploy API

B. Manage API

C. Entitle API

D. View all Details and Deploy API
Correct Answer: A

Reference: https://community.oracle.com/community/oracle-cloud/oracle-cloud-developer- solutions/blog

QUESTION 4

You receive a status code: 502 Proxy Error. Which is a possible event cause for this error?

A. when the proxy setup is incorrect

B. while registering a large number of devices using the Batch Registration feature under the Devices menu
C. while adding proxy for an enterprise application device

D. while the proxy server is not responding to the request

Correct Answer: B

Explanation: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/troubleshooting- management-console-issues.html

QUESTION 5
Which three statements are true about SOAP and the advantages it provides?

A. As compared to RPC (remote procedure calls), which are sometimes blocked by firewalls and proxy servers, SOAP
over HTTP can overcome that limitation.

B. It provides flexibility for message format flexibility allowing for loose coupling between client and server.

C. It commonly serves as a cleaning agent to remove excess data from the transmission protocol.

D. It leverages XML - based payloads to communicate between two client machines across any modern network.
E. It is platform and programing language independent.

F. SOAP clients can easily hold stateful references to remove server-side SOAP objects.

Correct Answer: ADE
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